. ©
0s
000°0Z$
PIA 2107 =t
>
9OUBISISSE AJYIUOW ZT QT = 000'0V$ &,
PIA ET0T = m
AIUIUOW ETO7 mpen 000035 2
[+¥]
000'08% =
o
e .
et —| 000'00T$
000°0ZTS
SpuaJ] aouejsissy diysumoj
6LL'€0TS PTT'ES Jaquwasag
959°00TS 0/T'SS Jagwanopn
988'96S  0£0LS 13qo10
958'88S  Tv6'8S Jaquisrdag
1¢6'64S  6L0'1TS 1snsSny
Tvy'69S  €€51TS Ainr
806°/SS SLL'YS aunf
GET'ESS 979'8s LT¥'9SS £€86'01S Aepy
60Sv¥S 0S1'ZTS 8/T'SYS 97T'STS udy
6SETES  EST'STS 7S6'6TS  £89°TTS yatep
90T'LTS 8£6°SS 9S8°LTS  TIT6'VS Atenigay
892'TTS 892TTS 9z0vIS 9Z0VTS Asenuer

PIA ZT0Z! Ajyauow z1oz  pik €10z Alyauow £Toz



